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i oA o Z2F 2= . |
gz | MNE =9 9% sgAziy) | SERS | ®¥ | S8¥sE | ZM
H (£/min) ® (PH/mm?) [ | &
z1 - - - - 1.2733 -
SAE
=l - - - - 1.9099 -
id oA o Z2F 2= . |
=g | ME =9 9% sgaziy) | SERS | ®E | S8sE | ZM
H (£/min) ® (PH/er) | O F
#1 b e} 10:00 ~  14:00 10.14 2646.76 0.0005 ojot
#2 = ups 1005 ~ 1405 10.07 2628.49 0.0004 ojot
SR
(4point)
#3 o ups 1010  ~  14:10 10.13 2644.15 0.0005 ojot
#4 A ErsE 1015  ~  14:15 10.09 263371 0.0004 ojot
AHOAXb== HY
TEeTE #5 Al LY#1 1030  ~  12:30 10.08 1315.55 0.0020 ojot
(Lpoint)
#6 o7z = 1moly | 1020 ~  11:00 10.1 439.39 0.0035 ojot
O A A4 H| OI
Hed ,' e #7 Ol7Z 2E Im oL | 13:40 ~  14:20 10.11 435.06 0.0039 ojot
(3point)
#8 Ol72 2E 1m o[l | 1500 ~ 1540 10.12 433.92 0.0038 o| ot
#9 297l 7z 03amoiy | 1040  ~  11:20 10.15 441.56 0.0041 ojot
#10 297l oMz 03amoiy | 11:330 ~  12:10 10.04 435.19 0.0039 ojot
S27|HHEF
(4point)
#11 297l 278z 03-moiy | 13:50  ~  14:30 10.09 434.20 0.0040 ojot
#12 go7 @olET 03-mol | 1510  ~ 1550 10.07 431.78 0.0038 ojot
#13 HolewsEresE moy | 1250 ~  13:30 10.03 431.62 0.0044 ojot
7|2 S
L 'E%E:rl #14 Hylgusrese moy | 1410  ~  14:50 10.06 43135 0.0034 o| ot
(3point)
#15 Hrlgusrese moy | 1520 ~  16:00 10.1 433.06 0.0036 ojot




& QIXE

@ #3
g -
; HHH s
#140 @#7 #1500 @ #S 45
[oa]®#l ew2
A H| 2 H|
# @ 1
R 2 1y Hzge 4
o #l

- HRfdE H01E Tleg o7IsE B ANISHD £0E 15

@ #2

oE

=l @ =32




-EH QX
Ry
o @ #13
AgY . #9 i _;__:E: . .
[] a7 - :
HerdE ot Mz oNIEE 1362 Y IG YT S 35 U
- ® =32x




LRI R

witrEas!

A e

Ay

2016,02,16

<sampling-#1>

1D ERE 2L 80

7 7 |wheEy

TRl

1m0 e

woE

e

P

2016,02,16

<sampling-#2>

e

Jangway

20L6.02,26

) KB4 R L

wtEds

e

gromLy

20L6.02,26

<sampling-#4>

R O]

i~ 20160816

<sampling-#5>

25 EBLA R L

witieds

e

RN

2016,02,16

<sampling-#6>

ki ha]

2016,02,16

UL A

1m0 e

woE

g5

P

2016,02,16

<sampling-#8>

<sampling-#9>

wtEds

e

Eaksd

2006.02,26

<sampling-#10>

1L ZBE 25 L 1

7 7 |wheEy

TRl

1m0 e

woE

g3

P

2016,02,16

<sampling-#11>

) KBS R L

wtEds

e

e

20L6,02,26

<sampling-#12>




<sampling-#13> <sampling-#14> <sampling-#15>

Z2uto mE Sl

2ol gt
E H A Y S MY 7tse FXEA S XE, 2
AN S22l Heg+ N o= gte+ A8 4B 582
0.0004 ~ 0.00447{f/mw 2 ZHE|QYUCH 5 MHHESHEI|E MHOHAZ|H A|HH
M 3B8=(MEZFH qEHEHEZ|E)Y 0.0171/ar DI 2 5 FHI7HE ATt

>
1.

J|>+ J|)|-

Ho T




ECo)
CCORo| aMHetAA T2
EdY &: ATl AEA
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o| 2 7| &t (F)Mdste
272 (FolmduazeT
ST MAHT AR AES AR 1362 AYNSST 22S Yo
NEE= 24ys
= FXZEAM i b | S| M AMH| 2l Se7IHET HI|2YET = A H: ES 01357.1, ES02303.1
AlR2 H 5 #1 ~ #4 #5 #6 ~ #8 #9 ~ #12 #13 ~ #15 g El 2 Walton Beckett 22{E| 2
= " Al 2 10:00 ~ 14:15 10:30 ~ 12:30 10:20 ~ 15:40 10:40 ~ 15:50 12:50 ~ 16:00 ool F: 2l atAbsio| 4 (BA 310)i
=R 2016.02.16 2016.02.16 2016.02.16 2016.02.16 2016.02.16 W-B TZ2HE| 22| H4HE : 0.00785mm?
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ZE X E(mm): 25 25 25 25 25 2MXY: FAN-1 @@
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AR 24 A3
5 75 E7Y 71 ER
2 NeHs ST 2 =(c ¥ank B F A TR o ® Al o 7H/mms
2 F = | 2 £() (&/min) £ H Al ZHR) ) ® A | oF /
21 - - - - - - 1.0 100 1.2733
BAE
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= 5 75 E/Y ER8-1 R 238k
2 = AEHS = X 2 5(c jg”E‘T" =5 Al ZHE ™ Al O TS
= R ! sHA B =(v) (¢/min) a2 AHE /) ® Ae | MO (H /)
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O F
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(1point)
#6 AR2 2E 1m Ol 1 10.10 40 404.00 439.39 9.5 300 0.0035
Slaay YT
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(3point)
#8 A2 =2E 1m Ol 5 10.12 40 404.80 433.92 10.0 300 0.0038
#9 20| IS T 0.3~1m OILH 1 10.15 40 406.00 44156 11.0 300 0.0041
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IR
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i O A o 2F X .|
gr | 42| sman | smupe | 3ETH| RE | SBsE A4
H =2 (t/min) ® (H/mm2) | o{ &
o] _ - § - 1.9099 -
SAR
o) _ - § - 1.2733 -
id O A o 2F X .|
gr | 42| sman | smupe | 3ETH| RE | SusE A4
H =2 (t/min) ® (PH/m) || &
#1 Lt HESE 800 ~  12:00 10.08 2640.74 0.0004 o|ot
#2 £ st 805 ~  12:05 10.11 2648.60 0.0004 ojot
2X|ZAH
(4point)
P #3 £ dpst 810 ~ 1210 10.09 2643.36 0.0004 ojot
#4 M st 815 ~ 1215 10.13 2653.84 0.0004 o|ot
RO RF=
TEeT s #5 Al Ly#1 830 ~ 1030| 1012 1325.61 0.0018 ojgt
(Lpoint)
O|AH A H| Ol
A8 .l T #6 7= = Imo|Lf | 820 ~  9:00 10.10 441.00 0.0033 ff=l3
(Lpoint)
#7 27| B7lEF 03~1molf | 8:50 ~ 9:30 10.07 439.69 0.0043 oj gt
Sotv|H=
= l,HE #8 se7| 37|z 03~1m oy | 10:00 ~ 10:40 10.15 439.96 0.0039 o) gt
(3point)
#9 297 B2z 03~tmoiyf [ 13:00 ~  13:40 10.06 43291 0.0042 ff=l3
- 7 I:IHI_’:
H7IZRET #10 HygeErese moy | 1500  ~  15:40 10.03 430.06 0.0038 ff=l3
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RS S HMetgs Aot X =g sHMX T2 1362 XA|E 0 S5tm 22s Uy
ANREE EAYE
= SR EAH M i b | 2l Mb| el Se7IHET HI|2YET = A H: ES 01357.1, ES02303.1
Al 2 HE #1 ~ #4 #5 #6 #7 ~ #9 #10 gl E 2: Walton Beckett 12HE| &
= " A2 08:00 ~ 12:15 08:30 ~ 10:30 08:20 ~ 09:00 08:50 ~ 13:50 15:00 ~ 15:40 & ool & 2|45 0| (BA 310)i
AlBH S 2016.02.17 2016.02.17 2016.02.17 2016.02.17 2016.02.17 W-B I2HE| 22| Al$HA : 0.00785mm?
=S (WS 2,646.63 1,325.61 441.00 437.52 430.06 SEAZAMEFHAN : 385mm”®
e X E(mm): 25 25 25 25 25 =AM R Y FAN-1 @@
= A g X 2016.02.17 2016.02.17 2016.02.17 2016.02.17 2016.02.17
Al 24 d3
oa o o Mo
g R NEdE S EE 2 =(t) ey 53 A 2HE) sy BRg- % | Ao | H/mme Ik
(4/min) [0))] [0)] %
-1 - - - - - - 1.5 100 1.9099 -
SAE
-2 - - - - - - 1.0 100 1.2733 -
5 yars 7Y ERET-1 o7 £¥s: 7|&E=
o Al &= x 2 T = 5 Al ZHE Al o =
e R l=u= s = (4/min) 53w w o A | N G | zsiety
#1 o e 0 10.08 240 2,419.20 2,640.74 2.0 100 0.0004 olgt
#2 s Ys 0 10.11 240 2,426.40 2,648.60 2.0 100 0.0004 olgt
SRBAHH
(4point)
#3 = 9E 0 10.09 240 2,421.60 2,643.36 2.0 100 0.0004 olgt
#4 A e 0 10.13 240 2,431.20 2,653.84 2.0 100 0.0004 olg
PSP EST]
TreTS #5 A LH#1 0 10.12 120 1,214.40 1,325.61 5.0 100 0.0018 olgt
(1point)
%ﬁiﬁ‘.'ﬂ%’? #6 A2 2E 1m OILK 0 10.10 40 404.00 441.00 9.0 300 0.0033 olgt
#7 S| ZIIHET 0.3~1m OILH 0 10.07 40 402.80 439.69 1.5 300 0.0043 olgt
SLIIER - S
@point) #8 S| ZIIHET 0.3~1m OILH 2 10.15 40 406.00 439.96 10.5 300 0.0039 olgt
#9 S| ZIIHET 0.3~1m OILH 4 10.06 40 402.40 432.91 11.0 300 0.0042 olgt
mlzf:‘%ﬁ? #10 HIISBER22E 1m 0lLY 5 10.03 40 401.20 430.06 10.0 300 0.0038 olgt
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